
JP Maths Revision 
 

 
 

1. Factorise  2𝑥2 + 6𝑥 + 4
 

 

 

 

 

 

 

…………………………..   (2 marks) 

______________________________________________________________________________ 

 

2. Factorise  2𝑥2 − 12𝑥 − 14
 

 

 

 

 

 

 

…………………………..   (2 marks) 

______________________________________________________________________________ 

 

3. Factorise   5𝑥2 + 10𝑥 + 5
 

 

 

 

 

 

 

 

…………………………..   (2 marks) 

_____________________________________________________________________________________ 

= 2 ( ✗ 2+3×1-2 )

= 2 ( x +2) Get 1)

2 ( act 2) ( rtl)

2 ( x2_ Gie - 7)

2 (x -7) Get 1)

2 Cx-7) ( Ntl)

= 5 ( x2-12×+1 )

= 5 (✗ +1)
2

56+1 )
2
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4. Factorise  2𝑥2 − 8
 

 

 

 

 

 

…………………………..   (2 marks) 

_____________________________________________________________________________________ 

 

5. Factorise  4𝑥2 − 9
 

 

 

 

 

 

…………………………..   (2 marks) 

______________________________________________________________________________ 

 

6. Factorise  16𝑥2 − 25
 

 

 

 

 

…………………………..   (2 marks) 

______________________________________________________________________________ 

 

7. Factorise   25𝑥2 − 36𝑦2

 

 

 

 

 

…………………………..   (2 marks) 

_____________________________________________________________________________________ 

= 26C ? 4)

= 2 Get 2) (x -2)

2 Get 2) (x - 2)

↳ difference of two squares.

(2×1-3) (2×-3)

↳ difference of two squares.

(4)a- 5) (4×-5)

↳ difference of two squares.

(set by Jesse -6g )



JP Maths Revision 
 

 

8. Factorise  4𝑥2 − 81𝑦2

 

 
 
 
 

…………………………..   (2 marks) 

_____________________________________________________________________________________ 

 

9. Factorise  2𝑥2 + 3𝑥 + 1
 

 

 

 

 

 

…………………………..   (2 marks) 

____________________________________________________________________________________ 

 

10. Factorise  3𝑥2 + 7𝑥 + 2
 

 

 

 

 

 

…………………………..   (2 marks) 

____________________________________________________________________________________ 

 

11. Factorise   2𝑥2 − 7𝑥 + 3
 

 

 

 

 

…………………………..   (2 marks) 

____________________________________________________________________________________ 

(2×1--94) (2k-9g )

2×1=2

-2×-1=2
2×2-1 2x)tx + I 2- + 1- =3

2×(2+1) +1 (Kfi )

(2×+1) (xtl)

(2×+1) /Rtl)

3×2=6

6- ✗ -1--6
3×76×4×+2 6- + -1=7

3×(24-2) tick+2 )

( 3kt 1) (set2)

(3×+1) Getz)

2×3=6

-9×-1--6
= 2×2-6×1- set 3 -6+-1=-7

= 2×(2-3) - Ice-3)

= ( 2x - 1) (x-3)

( 2x - 1) ( x -3)
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12. Factorise  3𝑥2 + 𝑥 − 2
 

 

 

 

 

 

…………………………..   (2 marks) 

_____________________________________________________________________________________ 

 

13. Factorise  6𝑥2 + 7𝑥 + 2
 

 

 

 

 

 

…………………………..   (2 marks) 

_____________________________________________________________________________________ 

 

14. Factorise  8𝑥2 + 26𝑥 − 7
 

 

 

 

 

 

…………………………..   (2 marks) 

____________________________________________________________________________________ 

 

15. Factorise  6𝑥2 − 5𝑥 + 1
 

 

 

 

 

…………………………..   (2 marks) 

___________________________________________________________________________________ 

3×-2=-6

3- ✗± = -6

-3+-22--1
= 3×2+3×1-2×-2
= 3X(Nfl) -21×1-1 )

= (3×-276+1)

( 3.x -2) Cxtl )

6×2=12

4- ✗ -3=12

= 6×2+4>41-3×+2 -4+-3=7

= 2k (3×+2)+1 (3kt 2)

= (2×+1) (3×1-2)

(2×+1) (3×1-2)

8×-7=-56

2-8×-5=-56
= 8×2+28>4-22-7 28 -2

- t - = 26

= 4×(2×+7) -1 (224-7)

= (2×+7-714×-1)

(2×+7)/4×-1)

6×1=6
--3×-3--6

= 6×232/-2×+1 23+22=-5

= 3×(2×-1) - I (2×-1)

= (2x - 1) ( 3k - 1)

(2×-1713×-1)


